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the Green'sTheorem can bewritten as
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And Theorem10 can bewrittenas
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Note that dive F E can bedefined onKYfray n

In particular
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Remark F f to in general and it is called

the Lag off and is denoted by
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In graduate level it will bedenoted by 0 82 no FYI



The operator 82 is called the haplaceoperata

and the equation FF o is called the Laplace

equation Solutions to Laplace equation are called

harmonic functions

In order to apply Green'sTheorem to more situations

we need a more mof Thm
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Suppose Ci Cz Cn be pairwise disjoint

piecewise smooth Suirple closed curves suchthat
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All C Cy dn are anti clockwise oriented



Let R be the region between C and G n Cn

Suppose F Mit Nj is defined on some openset
containing R and is C Then wehave
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simple closed curve starting from p
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is the region enclosed by C except thearc L
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Suppae Ci Cz E r have the same starting

point and end point
Cased C d z have no intersection jThen or is swiply connected






